Qe dogy €A {4OS
(o= (+D) = =2 (3= (i) = =1
G(33)-(-€) = I« - (=24 (32 = -
(eD-(4) = 1 ( F2)-C+12) =
lL¢)-0D) = -+ (-6)- Ct2) =

(D -C.Qz) = 44 Cte) —C1=) = =3
C—jq),gﬁ)*: =25 b C+L)(C-S)= 1
(-25)-(18) = 23 Groaldr €110 = 43
C y1)-CD = t¢ LD AR R
(R (2SS A2 Cig)— (43)=

A0 1Y% DY A (-2) - C-3) = - 71
(t3)-Ct+24) = 42 ‘(,-C')—- 3 i=
(23)- (1§)= ~2a CrA) -Ci0)=
C191)- kb 0)z = Ghe)-l (-0 =

GRD-0-) % ¢
(R C29 e 1)
LEE) )= 8-
LAY (-2)= >



oA |

9 N aiiz)= & )
DG k() = Jz 9) cA)xCs)=I
) L+Z)X (45) = =z Bl s Ca)=24
';'97""¢+7)xc+3> =22 . TR o) 4)=72]

f&;-@(éfc«'o 7, Yot Difelferente (sf SiSoLyg
L Pl e 443

Qg Lia) x L2 == ¢ 6) ¢5) xC43) s
QC"C)KC"ZD =-Jz O CA) re2) =€
e D ) (1= T F) Credx (-3)= —Ze

gh () 3 Cp)-= 22 W) C49Q) x(-4) ===

g-q eSEN 6t (¢ nNo~ew S ¢afuef U S qevgesensa
A &S Sitcienrs, ‘

“‘.' WW&A lua'qv 6\3 DC S' (= g‘*fﬂ; (& Sy 'S

: A,’.L.,},’ 2”“/\9 e_S “' A L AL~ ?‘ —~ (& S;J c/*-\; < ‘ ¢ C_'J l’(< —'_l

IFen ot A ua Stetine grsSiol H- T

MR adok (ﬁ)““’ A (e Olen (o 7y — 74




|

|

2 AndiCee | Gue | §5n0l  CUTARAE S Cadll, o

deéy [ feney = o ceso [ Cogqe Cere.
+

Subic | bag<( }[ - CnteS OCf despues | T

3 Oly Ca éf—l«af Oo~ga S A Cew (2lic /zuw(‘lif

ﬁ1 '..6; ‘lu"!" [ijs?Fr-'—z"‘rcy 'rél 'éj‘m\'\r«

lo 065U {  Jescri&e e ofolfe, 0)LiTn comay
s}

Ec 6Lxdey 1 =S
ElL bUctaddr Z "-j’j
B 6Jecdoy 3| O

A

S, &S5t 0L | eyl @S | SiSui€rdel  pu~ccos
OHLi 2™ (e (et Nomelice |

4 Do) (s el D | 4 D77
Pl &7 () £ }S 2y ©

é q'*‘/d% J(, le. (CChen NO—e( | @ Yeson, LS 614
Aovt(v et licf + QS Jefioy  de e S S S endts

= 22w o
@ 4@1@ [—’27}}—“0\{7‘\

m




